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Question Number : 1 Question Id : 86435116233 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Karl Marx was concerned with the oppressiveness that resulted from industrialization and the
capitalist system rather than the disorder to which other social thinkers were reacting.

Reason R: He advocated revolution as the only means to end the inequality between the controlling
bourgeoisie and the exploited proletariat created by the new industrialized society.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

86435155027. 1
86435155028. 2
86435155029. 3
86435155030. 4

Question Number : 2 Question Id : 86435116234 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Rural sociology

The discipline of rural sociclogy addresses how communities and areas with few people are socially and
economically organized, what patterns of social interaction occur among residents within these areas and
elsewhere, and why and how communities change over time. According to A.R. Desai, "Rural sociology is
the study of sociological life in rural setting to discover their conditions and tendencies and to formulate
principles of progress.” Therefore, rural sociology involves the study of human relationships in rural
situations.

In the context of the above passage, choose the most appropriate answer.

1. Rural Sociology is the study of sociclogical life in city setting.

2. Rural Sociology is a branch of geography.

3. Rural sociology is a discipline bigger than Sociology in its scope and subject matter.
4. Rural Sociology attempts to devise principles of progress for villagers.

Options :

86435155031. 1
86435155032. 2
86435155033. 3
86435155034. 4

Question Number : 3 Question Id : 86435116235 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Given below are two statements

Statement I: Scciology attempts to discover the principles of cohesion and order within the social
structure.

Statement II: Sociology addresses the ways in which conflict can be avoided in a society.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct

Options :

86435155035. 1
86435155036. 2
86435155037. 3
86435155038. 4

Question Number : 4 Question Id : 86435116236 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The pioneer in the field of Rural Sociology in India is:

1. Charles Metcalf
2. D.N. Majumdar
3. Holt Mackenzie
4. Sir Henry S. Maine

Options :

86435155039. 1
86435155040. 2
86435155041. 3



86435155042. 4

Question Number : 5 Question Id : 86435116237 Question Type : MCQ Option Shuffling
Correct Marks : 1 Wrong Marks : 0

Match List | with List 11

: No Is Question Mandatory : No

List |

List 11

A. Concerned with the oppressiveness that resulted from industrialization and the
capitalist system

. Georg Simmel

B. Made the largest contribution to the emergence of sociology as a social scientific

discipline 1. Karl Marx

C. Propounded that sociology is the science which attempts the interpretive 1l. Emile
understanding of social man Durkheim

D. Social geometry V. Max Weber

Choose the correct answer from the options given below:

T.A-LB-IN,C-IV,D-1
2A-1L,B-l,C-IV,D-l
3A-1ILB-WV,C-1l,D-1
4 A-IV.B-LC-ILD-1I
Options :

86435155043. 1
86435155044. 2
86435155045. 3
86435155046. 4

Question Number : 6 Question Id : 86435116238 Question Type : MCQ Option Shuffling
Correct Marks : 1 Wrong Marks : 0

: No Is Question Mandatory : No



Given below are two statements

Statement I: Unique to sociology is its emphasis upon the reciprocal relationship between individuals and
societies as they influence and shape each other.

Statement llI: Sociology attempts to discern the moving equilibrium of changing structure and changing
environment as a whole.

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true

Options :

86435155047. 1
86435155048. 2
86435155049. 3
86435155050. 4

Question Number : 7 Question Id : 86435116239 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who said, "India lives in villages"?

1. Emile Durkheim
2. Emory S. Bogardus
3. Holt Mackenzie
4, Mahatama Gandhi

Options :
86435155051. 1



86435155052. 2
86435155053. 3
86435155054. 4

Question Number : 8 Question Id : 86435116240 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Size of community is positively correlated in the case of:

1. Urbanity

2. Rurality

3. Semi-urban
4. Semi-rural

Options :

86435155055. 1
86435155056. 2
86435155057. 3
86435155058. 4

Question Number : 9 Question Id : 86435116241 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Man is a social animal.

Reason R : And thus, social group is the foundation of the society and culture.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

86435155059. 1
86435155060. 2
86435155061. 3
86435155062. 4

Question Number : 10 Question Id : 86435116242 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who made a division of groups into in-group and out-group?

1. Charles Cooley
2. George Hasen
3. Pitirim Sorokin
4. William G. Sumner

Options :

86435155063. 1
86435155064. 2
86435155065. 3



86435155066. 4

Question Number : 11 Question Id : 86435116243 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Given below are two statements

Statement |: The term "extension education” connoted an extension of knowledge within the premises of
the university (the British).

Statement II: The term “extension education” connoted an extension of knowledge from the university
(the British) to places and people far beyond.

In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct

Options :

86435155067. 1
86435155068. 2
86435155069. 3
86435155070. 4

Question Number : 12 Question Id : 86435116244 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : While in many cases inequality had its historical origin and is a culturally and religiously
determined phenomenon, inequality can also be a result of economic conditions.

Reason R : Thus, in many countries attempts in the modern times have been to remove inequalities
through constitutional measures and through knowledge disseminated in education.

In light of the above statements, choose the correct answer from the options given below

1. A is true but R is false

2. Both A and R are true but R is NOT the correct explanation of A
3. Both A and R are true and R is the correct explanation of A

4. A is false but R is true

Options :

86435155071. 1
86435155072. 2
86435155073. 3
86435155074. 4

Question Number : 13 Question Id : 86435116245 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Match List | with List 11

List | List 11
: - l. Bronislaw
4. Coined the term "Status Crystallization” , .
Malinowski
B.Coined the term “folkways” Il. Max Weber
C. Included ‘inherited artefacts, implements and consumer goods’ and 'social structure’ it ard i
. Karl Marx
within his definition of culture
: : V. William G.
D. Theory of alienation
sumner

Choose the correct answer from the options given below:

TA-ILB-,C-1IV,D-I
2ZA-1LB-IV,C-1,D-1l
3A-IILB-WV,C-Il,D-1
4 A-IV.B-IILC-IL.D-1
Options :

86435155075. 1
86435155076. 2
86435155077. 3
86435155078. 4

Question Number : 14 Question Id : 86435116246 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

"How can it be better than our way?” is an example of reaction that illustrates:

1. Attitude

2. Conventions
3. Social control
4. Social value



Options :

86435155079. 1
86435155080. 2
86435155081. 3
86435155082. 4

Question Number : 15 Question Id : 86435116247 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match List | with List 11

List | List 1l

A. Social conventions that are not considered to be of moral significance by members of g
l. Conventions

the group

B. Unwritten customs shared throughout a community Il. Folkways
C. Social norms that are widely observed and are considered to have greater moral i Fboo
significance than others

D. Prejudice that prohibits the use or mention of something because of its sacred nature  |IV. Mores

Choose the correct answer from the options given below:

T.A-ILB-1,C-1V,D-1l
2A-1,B-IV,C-1,D-1I
3.A-NILB-ILC-IV,D-1
4 A-,B-IV.C-IILD-1
Options :

86435155083. 1
86435155084. 2
86435155085. 3
86435155086. 4

Question Number : 16 Question Id : 86435116248 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Who said, "Values are general standards and may be regarded as higher order norms”?

1. Emile Durkheim
2. Gerald R. Leslie
3. Harry M. Johnson
4. Max Weber

Options :

86435155087. 1
86435155088. 2
86435155089. 3
86435155090. 4

Question Number : 17 Question Id : 86435116249 Question Type : MCQ Option Shuffling : No Is Question Mandatory
Correct Marks : 1 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : In some communities, an unmarried man is expected to work on his father's farm; only when
he marries will people expect him to start farming his own plot.

Reason R : Each person is seen as occupying a position in society, and each position carries expectations
with it.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :
86435155091. 1
86435155092. 2

: No



86435155093. 3
86435155094. 4

Question Number : 18 Question Id : 86435116250 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Given below are two statements

Statement |: Leadership can be defined as a property of an individual.

Statement lI: Leadership can be defined as a group property.

In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct

Options :

86435155095. 1
86435155096. 2
86435155097. 3
86435155098. 4

Question Number : 19 Question Id : 86435116251 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : The function of extension is to bring about desirable changes in the behaviour of people,
and in the case of agriculture — desirable changes for the farmers.

Reason R : Therefore, understanding the prevalent social values, forms of social control and attitudes of
the farmers on the part of the extension agents are important.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

86435155099. 1
86435155100. 2
86435155101. 3
86435155102. 4

Question Number : 20 Question Id : 86435116252 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which approach, the training staff designs the objectives, contents, teaching techniques, assignments,

lesson plans, motivation, tests, and evaluation?

1. Experiential approach

2. Performance-based approach
3. Participatory approach

4. Traditional approach

Options :



86435155103. 1
86435155104. 2
86435155105. 3
86435155106. 4

Question Number : 21 Question Id : 86435116253 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FAO suggested key roles of the agent. The roles are:
A. Knowledge/communication/innovation

B. Educator/facilitator/catalyst

C. Educator/facilitator

D. Knowledge/innovation

Choose the correct answer from the options given below:

1. A only

2. A and B only

3. A, Band D only
4. Cand D only

Options :

86435155107. 1
86435155108. 2
86435155109. 3
86435155110. 4

Question Number : 22 Question Id : 86435116254 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Phases of a training process are given below.

A. Planning

B. Evaluation

C. Implementation

Choose the correct answer in order of sequence from the options given below

1. A B C
2 A CB
3.B,AC
4. C A B

Options :

86435155111. 1
86435155112.2
86435155113.3
86435155114. 4

Question Number : 23 Question Id : 86435116255 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What are the four main areas of knowledge for the extension agent which forms the basis of extension
training?

1. Technical, rural life, policy and adult education

2. Technical, rural life, policy and public speaking

3. Technical, rural life, policy and report writing

4. Technical, policy, public speaking and report writing

Options :
86435155115. 1



86435155116. 2
86435155117. 3
86435155118. 4

Question Number : 24 Question Id : 86435116256 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Given below are two statements

Statement I: The goal of training consist of motivating local leaders to commit themselves for the cause of
development

Statement |I: The goal of training of local leaders is to create general awareness in them about the
problems of villages, current approaches of development, national policy, organization etc.

In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement |l is correct

Options :

86435155119. 1
86435155120. 2
86435155121.3
86435155122. 4

Question Number : 25 Question Id : 86435116257 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Match List | with List 11

List | List 11

A. Motivating farmers for Action: How a strategic Multimedia
. I. Mohammed K. Yahaya
campaign can help

B. Learning styles: Concepts and Evidence II. Jane Vella

C. On Teaching and Learning: Putting the Principles and Practices|lll. Harold Pashler, Mark McDaniel, Doug
of Dialogue Education into Action Rohrer and Robert A. Bjork

D. Development Communication and Social Engineering:
P g g IV. A. Abdullai

Prospects for Sustainable Food Security in Nigeria

Choose the correct answer from the options given below:

TA-ILB-IV,C-1ILD-1
2ZA-IV,B-1,C-1I,D-1l
3A-IV,B-IILC-II,D-1
4 A-NLB-ILC-IV.D-1
Options :

86435155123. 1
86435155124.2
86435155125.3
86435155126. 4

Question Number : 26 Question Id : 86435116258 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Training programmes are directed towards maintaining and improving current job
performance, while development programmes seek to develop skills for future jobs.

Reason R: The training of extension personnel contributes directly to the development of human
resources within extension organizations.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

86435155127. 1
86435155128.2
86435155129.3
86435155130. 4

Question Number : 27 Question Id : 86435116259 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Career development training

A. This type of training is designed to upgrade the knowledge, skills, and ability of employees to help
them assume greater responsibility in higher positions.

B. The type of training is arranged departmentally for successful extension workers, at all levels, for their
own continuing education and professional development.

C. This type of training is not useful for those who are already qualified.
Choose the correct answer from the options given below:

1. A only

2. B only

3. A and B only

4. A B and Conly

Options :

86435155131. 1
86435155132. 2
86435155133.3
86435155134. 4

Question Number : 28 Question Id : 86435116260 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Educational psychology is one of the branches of:

1. Applied science
2. Exact science

3. Philosophy

4, Social Science



Options :

86435155135. 1
86435155136.2
86435155137. 3
86435155138. 4

Question Number : 29 Question Id : 86435116261 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : The main aim of educational psychology is to mould human personality while inculcating the
social aspect in human personality.

Reason R : Therefore, educaticonal psychology is primarily about human learning processes irrespective of
age and gender.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

86435155139. 1
86435155140.2
86435155141. 3
86435155142. 4

Question Number : 30 Question Id : 86435116262 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



When was the Operational Research Projects (ORPs) taken up by ICAR?

1. 1964
2. 1975
3. 1979
4, 1995

Options :

86435155143. 1
86435155144. 2
86435155145.3
86435155146. 4

Question Number : 31 Question Id : 86435116263 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Match List | with List 11

List | List Il
A. Primarily focuses with the shaping and moulding of I. Heredity and
educational situations Environment

B. Deals with scope of promoting children’s physical growth and|ll. Learning systems

development and environment
C. Studies how learning can take place most effectively and Il. Growth and
economically development

D. Takes into account important issues like hereditary and social ,
IV. Human Behaviour

environment from a scientific point of view

Choose the correct answer from the options given below:

1.A-1,B-1I,C-11D-IV
ZA-ILB-1ILC-1,D-IV
3A-IILB-L,C-IV,D-1l
4 A-IV,B-IIILC-1,D-1

Options :

86435155147. 1
86435155148.2
86435155149. 3
86435155150. 4

Question Number : 32 Question Id : 86435116264 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Cognitive intelligence is related to:

1. Analytical
2. Descriptive
3. Emotional
4. Scientific

Options :

86435155151. 1
86435155152. 2
86435155153.3
86435155154. 4

Question Number : 33 Question Id : 86435116265 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Personality is mainly about:

1. Animal character
2. Environment

3. Human nature
4. Human trait

Options :

86435155155 1
86435155156. 2
86435155157.3
86435155158. 4

Question Number : 34 Question Id : 86435116266 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Main stages of perception include the following. Put in proper sequence:
A. Sensation

B. Attention

C. Knowing

D. Sequencing and co-relation of past and present

E. Cognition

Choose the correct answer from the options given below

1. A, B, E only
2. A, C Eonly
3B C. D E

4 A B C, D E

Options :

86435155159. 1
86435155160. 2
86435155161. 3
86435155162. 4

Question Number : 35 Question Id : 86435116267 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



In which Five Year Plan, Tribal and Hill Area Development Programme was introduced by the Government
of India?

1. First-Five Year Plan

2. Second-Five Year Plan
3. Third-Five Year Plan
4. Fourth-Five Year Plan

Options :

86435155163. 1
86435155164. 2
86435155165. 3
86435155166. 4

Question Number : 36 Question Id : 86435116268 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match List | with List 11

List | List Il

A. The mathematical theory of communication |l. D.K. Berlo

B. The process of communication ll. G.L. Ray

C. The process and effects of communication |lll. C.E. Shannon & W. Weaver

D. Extension communication and management|lV. W. Schramm

Choose the correct answer from the options given below:

TA-LB-ILC-1I,D-1IV
2ZA-1ILB-1L,C-IV,D-I
3A-ILB-LC-IILD-IV
4 A-IV,B-ILC-1I,D-1
Options :



86435155167. 1
86435155168. 2
86435155169. 3
86435155170. 4

Question Number : 37 Question Id : 86435116269 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

From which language is the term motivation derived from:

1. English

2. French

3. Latin

4, Sanskrit

Options :

86435155171. 1
86435155172. 2
86435155173.3
86435155174. 4

Question Number : 38 Question Id : 86435116270 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

How Roger's and Shoemaker models work in communication process?

1. 5-M-C-R-E model

2. S-M-T-C-E model

3. S- E-M-C-D-R model
4. S5-T-5-R-D model
Options :

86435155175. 1
86435155176. 2



86435155177.3
86435155178. 4

Question Number : 39 Question Id : 86435116271 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Put in proper sequence the four steps concerning what one should do in analysing an organization
(organizational).

A, Stating the goals and objectives of an organization

B. Analysing efficiency indices

C. Analysing the organizational climate

D. Analysing the human resources

Choose the correct answer from the options given below

1.ABCD
2. A DB C
3.B.ACD
4. C A DB

Options :

86435155179. 1
86435155180. 2
86435155181. 3
86435155182. 4

Question Number : 40 Question Id : 86435116272 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Match List | with List 11

List | List 11

A. A group of three or four experts in a specific area of specialization may be
invited to address a group of trainees on a particular subject. The mutual L.
interactions of the panelists among themselves and with the audience can lead |Workshop
to an effective understanding of the topic.

B. It is a meeting in which a small number of resource persons present short
papers on a given topic. Interaction with the audience is not expected. It is Il. Forum
primarily meant for information gathering at the professional level.

C. It consists of question period in which members of the audience may ask 1l

questions or make brief statements. It is primarily a means of understanding Panel
information.

D. It is essentially a long meeting from one day to several weeks, involving all |y

the delegates in which the problems being discussed are considered by Symposium

delegates in small private groups.

Choose the correct answer from the options given below:

1L.A-ILB-LC-1Il,D=-IV
2ZA-ILB-L,C-IV, D=1l
3A-IILB-IV,C-I,D-1
4 A-1LB-IV,C-1I,D-1

Options :

86435155183. 1
86435155184. 2
86435155185. 3
86435155186. 4

Question Number : 41 Question Id : 86435116273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Transfer of learning can be achieved in ways. Listed below are some of the ways:
A. Encourage the learner to look for similarities in various situations.
B. Encourage the learner to apply the ideas in other similar situations.

C. Encourage the learner to generate principles personally rather than being told, allowing the learner
discovers similarities and principles.

D. Discourage memorization of data or content of learning process by the learner. Lay more emphasis on
understanding and application of ideas.

Identify and choose the correct answer from the options given below:

1. A, B, D only
2.A, C Donly
3.B,C, D only
4. A B, C Donly

Options :

86435155187. 1
86435155188. 2
86435155189. 3
86435155190. 4

Question Number : 42 Question Id : 86435116274 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Who developed the concept of Insight Learning?

1. Mohammed K. Yahaya
2. Wilkening

3. Williams et. al.

4. Wolfgang Kohler

Options :

86435155191. 1
86435155192. 2
86435155193.3
86435155194. 4

Question Number : 43 Question Id : 86435116275 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What, according to J.P. Leagan, should extension agents continue to do until the desired response occurs
on the part of the receiver(s)?

1. Communicate, repeat, motivate and persuade
2. Communicate, repeat and motivate

3. Communicate, motivate and persuade

4. Repeat, motivate and persuade

Options :

86435155195. 1
86435155196. 2
86435155197.3
86435155198. 4

Question Number : 44 Question Id : 86435116276 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Match List | with List 11

List | List Il

A. Organised to communicate interesting and useful information to a large I.
audience at a time. Campaign

B. An extension teaching method in which a gathering of farmers is instructed on
a topic by a team of subject matter specialists through lectures and discussion |l
coupled sometimes with agricultural exhibition, distribution of seeds/input and  |[Exhibitions
field visits.

C. Planned or systematically arranged display of models, specimens, posters, M.
charts, products etc., presented to public view for instruction, competition, Farmer's
advertising, sale or entertainment. Rally

D. An intensive teaching activity undertaken at an opportune (proper) time for a
brief period, focussing attention in a concerted manner on a particular problem, |[IV. Mass
with a view to stimulate the widest possible interest and action in a community  |Meeting

to action, to solve a problem or satisfy a need urgently felt by it.

Choose the correct answer from the options given below:

1LA-ILE-ILC-IV,D-I
2A-ILB-IV,C-1l,D-|
3JA-IV,B-IIILC-1I,D-|
4A-IV, B-IILC-1,D-1

Options :

86435155199. 1
86435155200. 2
86435155201. 3
86435155202. 4

Question Number : 45 Question Id : 86435116277 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : It is not essential that the farmers are always aware of the improvements they can make from
the technologies, which may be of immense use for them.

Reason R: It is, therefore, the first step in extension teaching to direct the attention of perspective learners
to the new or better idea and expose the significance of it to them in order to create their interest.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

86435155203. 1
86435155204.2
86435155205. 3
86435155206. 4

Question Number : 46 Question Id : 86435116278 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the extension method that can also be used as a group teaching method such as for a relatively
small audience?

1. Campaign

2. Exhibition

3. Method demonstration
4, Office calls



Options :

86435155207. 1
86435155208. 2
86435155209. 3
86435155210. 4

Question Number : 47 Question Id : 86435116279 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The Indian Council of Agricultural Research (ICAR) has taken up number of extension programmes over the
years. Listed below are some of the programmes.

A, Operational Research Projects

B. Lab-to-Land programme

C. Institution-Village Linkage Programme

D. Frontline Demonstration

Put in proper sequence the operationalisation of the programmes.

Choose the correct answer from the options given below

1.ABCD
2A B DC
3A,CDB
4 A DB C

Options :

86435155211.
86435155212.
86435155213.
86435155214.

AW N -

Question Number : 48 Question Id : 86435116280 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which is the best and most effective means of communication for rural audience in India?

1. Television

2. Internet based communications
3. Radio

4. Telephone

Options :

86435155215. 1
86435155216. 2
86435155217.3
86435155218. 4

Question Number : 49 Question Id : 86435116281 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In the year 2002, the Government of India approved the policy for setting up broadcasting unit which
should be owned by a non-profit group or by a co-operative and whose members are supposedly to be
the listeners themselves.

Which one is it?

1. All India Radio

2. Centralized Radio Broadcasting
3. Community Radio Station

4. Gyan Vani

Options :

86435155219. 1
86435155220. 2
86435155221.3
86435155222. 4



Question Number : 50 Question Id : 86435116282 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Given below are two statements

Statement I: Verbal communication more communicative and effective and aids in avoiding delays, red-
tape and formalities.

Statement lI: Verbal talks may often be distorted if there is some cause of indifference between the
receiver and the sender.

In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement |l is correct

Options :

86435155223. 1
86435155224. 2
86435155225.3
86435155226. 4

Question Number : 51 Question Id : 86435116283 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Given below are two statements

Statement I: Written communication is reliable when transmitting lengthy information on financial,
production or other important data.

Statement lI: Written communication sometimes leads to excessive formality and rigidity in perscnal
relations.

In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct

Options :

86435155227. 1
86435155228.2
86435155229.3
86435155230. 4

Question Number : 52 Question Id : 86435116284 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : The attitude of the audience towards the message largely depends upon who gives what
message through which channel; to what extent the content of the message satisfy their needs and
intensions; to what measures the suggestions contained in the message are in line with their pre-held
experience and pre-existing preferences; and, how far the message is compatible with group norms and
values system to which the audience belongs.

Reason R: The communicator should, therefore, be careful in selecting message which are relevant to the
audience, choose channels compatible to their cultural pattern and make treatment of the message
appropriate to their levels of interest and understanding.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true but R is NOT the correct explanation of A
2. Both A and R are true and R is the correct explanation of A

3. A is true but R is false

4. A is false but R is true

Options :

86435155231. 1
86435155232.2
86435155233.3
86435155234. 4

Question Number : 53 Question Id : 86435116285 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Our rural lives are confronted with various challenges in terms development and
sustainability of farming.

Reason R: Motivational exercises, thus, play an important extension programme in the field of agriculture.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

86435155235. 1
86435155236.2
86435155237. 3
86435155238. 4

Question Number : 54 Question Id : 86435116286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The role of eyes in non verbal communication is:

1. Chronemics
2. Haptics

3. Oculesics

4. Paralinguistics

Options :
86435155239. 1
86435155240. 2



86435155241.3
86435155242. 4

Question Number : 55 Question Id : 86435116287 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the name of the letter written by the extension worker to a particular farmer in connection with an
extension activity?

1. Circular letter
2. Folder

3. Newsletter

4, Personal letter

Options :

86435155243. 1
86435155244.2
86435155245. 3
86435155246. 4

Question Number : 56 Question Id : 86435116288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



hMatch List | with List 11

List | List Il

A. Realization of goals l. Perception

B. Associated with level of satisfaction|ll. Emotion

C. Related to instant responses I1l. Frustration

D. About feeling and knowing IV. Positive emotions

Choose the correct answer from the options given below:

TLA-ILB-I,C-1V,D-1
2A-1LB-IV,C-1IlLD-1
3A-IV,B-ILC-U,D-1
4 A-IV,B-U,C-1ILD-1
Options :

86435155247. 1
86435155248. 2
86435155249. 3
86435155250. 4

Question Number : 57 Question Id : 86435116289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What should a teacher first know in extension teaching?

1. Attitude of the learner

2. Objectives of the teaching
3. Subject matter

4. Teaching aids

Options :
86435155251. 1
86435155252. 2



86435155253.3
86435155254. 4

Question Number : 58 Question Id : 86435116290 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which two performance are referred to as two sides of the same coin in communication?

1. Homophily and heterophily
2. Noise and fidelity

3. Propaganda and publicity
4. Publicity and persuasion

Options :

86435155255. 1
86435155256.2
86435155257.3
86435155258. 4

Question Number : 59 Question Id : 86435116291 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Put in proper sequence the inservice training for staff development:
A. Induction or orientation training

B. On-the-job training

C. Career development training

D. Foundation training

E. Refresher or maintenance training

Choose the correct answer from the options given below

1.A B CDE
2ADBEC
3.B,C,D,EA
4. C, D, EAB

Options :

86435155259. 1
86435155260. 2
86435155261. 3
86435155262. 4

Question Number : 60 Question Id : 86435116292 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Cyber Extension means:

1. Extension over cyber space

2. Extension over communication

3. Extension over information

4. Extension over information and technology

Options :

86435155263. 1
86435155264. 2
86435155265. 3
86435155266. 4

Question Number : 61 Question Id : 86435116293 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Telnet connects to:

1. Computers in a room

2. Computers sharing same broadband
3. Easily available computer locations
4. Remote computer locations

Options :

86435155267. 1
86435155268. 2
86435155269. 3
86435155270. 4

Question Number : 62 Question Id : 86435116294 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Listed below are the stages of the Adoption Process:

A. Interest

B. Awareness

C. Trial and adoption

D. Evaluation

Put the stages in proper order of sequence.

Choose the correct answer from the options given below

1.ABCD
2 A BDC
3.BACD
4B, A D, C

Options :

86435155271. 1
86435155272.2
86435155273.3
86435155274. 4

Question Number : 63 Question Id : 86435116295 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



How many levels does the 'Kisan Call' Center consists of?

1. Two levels
2. Three levels
3. Four levels
4, Five levels

Options :

86435155275. 1
86435155276. 2
86435155277.3
86435155278. 4

Question Number : 64 Question Id : 86435116296 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who among the following are more concerned about the availability of the innovation?

1. Early adopters
2. Early majority
3. Late majority

4. Laggards

Options :

86435155279. 1
86435155280. 2
86435155281. 3
86435155282. 4

Question Number : 65 Question Id : 86435116297 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The adoption of an innovation over time follows normal.........when plotted over time in a frequency basis:

1. Straight line

2. Bell shaped curve
3. S-shaped curve
4. Ziz-zag line

Options :

86435155283. 1
86435155284. 2
86435155285. 3
86435155286. 4

Question Number : 66 Question Id : 86435116298 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Innovation and uncertainty

People may perceive some degree of uncertainty in the ‘'newness’ of an innovation. According to Everett M
Rogers (1995), uncertainty is the degree to which a number of alternatives are perceived with respect to
the occurrence of an event and the relative probability of these alternatives. An innovation presents an
individual or an organization with a new alternative that is with new means of solving problems in such a
condition that the new alternative being superior to the previous practice which are not exactly known by
the individual for solving his problems. Thus, they are motivated to seek further information about the
innovation to cope up with the uncertainty that prevails.

In the context of the above passage, choose the most appropriate answer.

1. Uncertainty hinders innovation.

2. Uncertainty means a new means of solving problems.

3. When uncertainty prevails, new innovations are discarded.

4. Finding a ‘'newness’ in an innovation in terms of problem solving, innovators would make attempts to
clear uncertainty that prevails.

Options :

86435155287. 1
86435155288. 2
86435155289. 3
86435155290. 4

Question Number : 67 Question Id : 86435116299 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The decision to make full use of an innovation to the best course of action available is:

1. Adoption
2. Assimilation
3. Diffusion
4. Heterophily

Options :

86435155291. 1
86435155292. 2
86435155293.3
86435155294. 4

Question Number : 68 Question Id : 86435116300 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

“Innovation can include tangible, such as new design methodology or pedagogical technique”. Who said
it?

1. EA. Wilkening
2. Everett Rogers
3. Leagans Paul
4, G.L. Ray

Options :

86435155295. 1
86435155296. 2
86435155297. 3
86435155298. 4

Question Number : 69 Question Id : 86435116301 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Put in proper sequence the four main aspects of working with local leaders which the agent should keep in

mind:

A. Visit

B. Inform

C. Encourage

D. Train

Choose the correct answer from the options given below

1.ABCD
2B ADC
3.B,.C,D A
4. C A DB

Options :

86435155299. 1
86435155300. 2
86435155301. 3
86435155302. 4

Question Number : 70 Question Id : 86435116302 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following attribute of the innovation have an inverse relation with adoption?

1. Compatibility
2. Complexity
3. Observability
4. Trialability

Options :

86435155303. 1
86435155304. 2
86435155305. 3
86435155306. 4

Question Number : 71 Question Id : 86435116303 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who was/were the first to recognize that adoption of a new idea occurs in stages?

1. Johnson and Haver

2. Rogers and Shoemaker
3. Shoemaker

4. Wilkening

Options :

86435155307. 1
86435155308. 2
86435155309. 3
86435155310. 4

Question Number : 72 Question Id : 86435116304 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The process by which an individuals’ efficiency and effectiveness in a given context of a task/duty can be
maximized is:

1. Development
2. Innovation

3. Research

4. Training

Options :

86435155311. 1
86435155312. 2
86435155313.3
86435155314. 4

Question Number : 73 Question Id : 86435116305 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Put in proper sequence the procedures involved for effective teaching in extension work:
A. Always start with the present needs and problems of the farmers

B. Use practical devices to show relationship between ideas

C. Presentation should be logical in sequence

D. Repeat ideas being presented

E. Summarize your presentation

Choose the correct answer from the options given below

1.A B CDE
2A CBDE
3.BACDE
4. C, D, EAB

Options :

86435155315. 1
86435155316.2
86435155317.3
86435155318. 4

Question Number : 74 Question Id : 86435116306 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which are not taken very seriously by the society?

1. Violation of the folkways
2. Violation of the mores
3. Violation of the rituals
4. Violation of the taboos

Options :

86435155319. 1
86435155320. 2
86435155321.3
86435155322. 4

Question Number : 75 Question Id : 86435116307 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Put in proper sequence the flow of the Five Stages of Innovation-Decision Process:
A. Persuasion Stage

B. Knowledge Stage

C. Decision Stage

D. Confirmation Stage

E. Implementation Stage

Choose the correct answer from the options given below:

1.A B CDE
2B ACED
2B ADCE
4B, CEDA

Options :

86435155323. 1
86435155324.2
86435155325.3
86435155326. 4

Question Number : 76 Question Id : 86435116308 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



What is recognized by employers and University faculty as one important skill needed by agricultural
graduates?

1. Communication skill
2. Empathy

3. Expertise

4. Leadership

Options :

86435155327. 1
86435155328. 2
86435155329.3
86435155330. 4

Question Number : 77 Question Id : 86435116309 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The importance of using action-oriented educational methods to train leaders by role-playing is like:

1. Brain storming as the power to speak up

2. One act play as the power to act

3. Hero training as methods of training leaders

4. Sensitivity training as methods of training leaders

Options :

86435155331. 1
86435155332.2
86435155333.3
86435155334. 4

Question Number : 78 Question Id : 86435116310 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Match List | with List 11

List | List Il

A. Farm and home visit, Office call, Personal letter, Result demonstration, |I. Extension teaching methods

etc. according to form

B. Methods demonstration, Conferences and discussion, Meetings at

: Il. Individual contact methods
result demonstration, Study tours,etc.

C. Bulletin, Newspaper, Circular letters, Radio, Television, Exhibits,

) Ill. Group contact methods
Posters, Campaign, etc

D. Written IV. Mass contact methods

Choose the correct answer from the options given below:

TA-ILB-NLC-IV,D-1
2ZA-1ILB-1IL,C-IV,D-1
3A-NILB-IV,C-1l,LD-I
AA-IV.B-ILC-LD-1I
Options :

86435155335. 1
86435155336.2
86435155337.3
86435155338. 4

Question Number : 79 Question Id : 86435116311 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which one of the following is the most appropriate element of teaching?

1. Blackboard
2. Classroom
3. Duster

4, Instructor

Options :

86435155339. 1
86435155340. 2
86435155341.3
86435155342. 4

Question Number : 80 Question Id : 86435116312 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Role Playing

Role playing requires good empathy. It is a particular technigue which gives an insight into the complex
behavioral patterns of individuals. Even the observers tend to see in the roles played by others the images
of their own behaviour and attitude. Role playing units should be small in size so that the trainees can
really identify with the live roles they play. Special emphasis should be put on the discussion following the
exercise.

Choose the correct answer which is appropiate in the context of the above given passage.

1. It is a fun, yet effective, method of teaching leadership skills.

2. Role playing is least concerned about knowing a subject matter in greater depth.

3. Role playing improves student communication skills.

4. The participants can be made to act and re-live a particular situation to get a real feel of the roles they
are actually called upon to play.



Options :

86435155343. 1
86435155344.2
86435155345. 3
86435155346. 4

Question Number : 81 Question Id : 86435116313 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What need not stand in the way of one’s learning?

1. Lack of literacy
2. Motivation

3. Sex

4. Status

Options :

86435155347. 1
86435155348. 2
86435155349. 3
86435155350. 4

Question Number : 82 Question Id : 86435116314 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In an effective learning situation the most important central position is occupied by:

1. Learners

2. Physical facilities
3. Teachers

4. Teaching Materials

Options :



86435155351. 1
86435155352.2
86435155353.3
86435155354. 4

Question Number : 83 Question Id : 86435116315 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What largely determines the rate of learning among adults?

1. Attitudes

2. Motivation

3. Narrowness of interest
4. Values

Options :

86435155355. 1
86435155356. 2
86435155357.3
86435155358. 4

Question Number : 84 Question Id : 86435116316 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



SITUATIONAL TESTS

Here the situation is artificially created in which an individual is expected to perform acts related to the
personality traits under testing. For example, to test the honesty of an individual some situations may be
created and his reactions can be evaluated in terms of honesty or dishonesty. Does he feel temptation of
copying? Does he try to pick up the one rupee note in a given situation? All such instances can lead
towards the assessment of the trait of honesty in an individual.

From the passage given above, what can you say about honesty?

1. Situation makes a person dishonest

2. Friends influence the honesty trait of a person

3. Honesty has correlation with empathy of a person

4. The passage does not talk about honesty/dishonesty traits of a person, but it talks about a particular
test to determine honesty/dishonesty of a person under certain situations.

Options :

86435155359. 1
86435155360. 2
86435155361. 3
86435155362. 4

Question Number : 85 Question Id : 86435116317 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Folk-Lore, Folk-Tales, Proverbs and Poetry

Each locality, tribe or community can have its literacy and artistic materials which can contain a
considerable amount of information depicting its local culture, the legends, the rituals, the legendary
characters and practices. One can know them from the local people and have them explained. These can
depict the conditions, the beliefs, the problems, the perceptions, and the traditions of the community or
tribe concerned. They can also form a basis to learn and interpret the current conditions in light of a
community’s culture and traditions.

The above passage reinforces the idea of one of the given below training methods/theories.
Choose the correct answer from the options given below:

1. Need assessment

2. Participatory Rural Appraisal
3. Situational Analysis

4. Social Control

Options :

86435155363. 1
86435155364.2
86435155365. 3
86435155366. 4

Question Number : 86 Question Id : 86435116318 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



What is the full form of PRA?

1. Panchayati Raj Association

2. Participatory Rural Administration
3. Participatory Rural Appraisal

4. Principles of Rural Administration

Options :

86435155367. 1
86435155368. 2
86435155369. 3
86435155370. 4

Question Number : 87 Question Id : 86435116319 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Indigenous Technical Knowledge (ITK)

ITKs are the sum total knowledge and practices which are based on people’s accumulated experiences in
dealing with situations and problems. ITK in agriculture and animal husbandry is a treasured source of local
wisdom.

In the context of the above passage, some popular practices are listed below.
Identify and choose which is NOT an ITK.

1. The fresh leaves of elephant nettle i.e. Dendrocnide sinuate are placed in layers in boiled rice for 24 hours
and the treated rice are placed in rat runaways because the treated rice acts as rodenticide since the
leaves of Dendrocnide sinuate contain toxic substance.

2. Cow dung is plastered on cut surface on plants to prevent the entry of pathogens, fungal infection and
disease incidence since cut surface of plants may serve as the entry point of diseases and cow dung has
an antifungal property.

3. Marriage of frogs to invoke rainfall.

4. Seeds of Entada pursaetha are mixed in equal proportion with rice to protect the granaries store houses
from entry of rats since seeds of Entada pursaetha are toxic to rats.

Options :

86435155371. 1
86435155372. 2
86435155373.3
86435155374. 4

Question Number : 88 Question Id : 86435116320 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Blind application of technology should not be done without understanding:

1. Culture of the place

2. Demographic composition of the place

3. Livelihood pattern and situation of the place
4. Social condition of the place

Options :

86435155375. 1
86435155376. 2
86435155377.3
86435155378. 4

Question Number : 89 Question Id : 86435116321 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

It shows quantitative changes over the period of time and can be used for many variables of agricultural,
livestock, poultry production, price, yield and areas under cultivation.

1. Mobility map

2. Seasonal calendar
3. Time line

4. Time trend

Options :

86435155379. 1
86435155380. 2
86435155381. 3
86435155382. 4

Question Number : 90 Question Id : 86435116322 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Before the teaching activity is conducted following points are to be clear for planning an effective learning

situation.

A. Objectives

B. Village situation

C. Evaluation

D. Reconsideration

Put the four steps involved in proper sequence.

Choose the correct answer from the options given below:

1.ABCD
2ACBD
3.BACD
4B, C A D

Options :

86435155383. 1
86435155384. 2
86435155385. 3
86435155386. 4

Question Number : 91 Question Id : 86435116323 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Strategic Research and Extension Plan (SREP) of a district is prepared through

1. District Census
2. District Survey
3. PRA method
4. OFT

Options :

86435155387. 1
86435155388. 2
86435155389. 3
86435155390. 4

Question Number : 92 Question Id : 86435116324 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

An agriculture technology which is proved suitable, profitable and sustainable for a particular area can be
started as

1. Business

2. Commodity
3. Enterprise
4. Market

Options :

86435155391. 1
86435155392. 2
86435155393.3
86435155394. 4

Question Number : 93 Question Id : 86435116325 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



What are the three important dimensions of message?

1. Code, content, treatment
2. Code, decode, source

3. Encode, decode, feedback
4, Source, self, receiver

Options :

86435155395. 1
86435155396.2
86435155397. 3
86435155398. 4

Question Number : 94 Question Id : 86435116326 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Extension Education

What is prevalent in India and widely accepted is that extension education is an out-of-school system of
education in which adults and young people learn. It is a partnership between the government, the land
grant colleges and the people, which provider services and education designed to meet the needs of the
people. Thus, it is the dissemination of useful research findings and ideas among rural people to bring out
desirable changes in their social and cultural behavior.

In the context of the above passage, choose the most appropriate statement.

1. Community and economic development continue to be important research and policy issues that
confront and connect rural communities and rural scholars in the world today.

2. If India is to achieve progress, the villages have to be improved by imparting education.

3. Rural well-being has been negatively affected by large farms and powerful farmers.

4. Extension education deals with various strategies of change in the behavioral patterns of human beings
through technological and scientific innovation for the improvement of their standard of living.

Options :

86435155399. 1
86435155400. 2
86435155401. 3
86435155402. 4

Question Number : 95 Question Id : 86435116327 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Characteristics of Indian Rural Society

The village is the unit of the rural society. Its people carry on the business of living together within a
distinctive framework of caste and social custom. Caste is a dominant social institution permeating social
and economic relations. Traditional caste occupation mostly prevails. Co-operative labour of different
castes is required not only for agro-economic activities but also for socio-religious life. The large villages
have within its population all the occupational castes, have a comparatively more integrated and self-
sufficient economic as well as socio-religious life than smaller villages.

From the above given passage, we can infer that:

1. Caste is conducive for development of India.

2. Caste system leads to isolation lives, in which only members of a particular caste cooperate.
3. Caste system promotes co-operative labour.

4. Caste integrates people from different socio-religious life.

Options :

86435155403. 1
86435155404. 2
86435155405. 3
86435155406. 4

Question Number : 96 Question Id : 86435116328 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Inequality

Inequality is an important aspect of human society. While in many cases inequality had its historical origin
and is a culturally and religiously determined phenomenon, inequality can also be a result of economic
conditions. Thus, in many countries attempts in the modern times have been to remove inequalities
through constitutional measures and through knowledge disseminated in education. This has been done
so in order to bring about justice and equality.

The above passage is:

1. A plea for ending inequality.

2. An argument in favour of constitutional measures for ending inequality.

3. A general observation to reveal that inequality is a reality, but efforts are being made to remove it.

4. A message to highlight the role of knowledge to end inequality, and bring about justice and equality.

Options :

86435155407. 1
86435155408. 2
86435155409. 3
86435155410. 4

Question Number : 97 Question Id : 86435116329 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What are the aims of community development programmes undertaken by the Government of India

among rural people?

1. To effect cultural changes and promote positive thinking
2. To effect national integration

3. To promote socialist ideas

4. To promote unity in diversity

Options :



86435155411. 1
86435155412. 2
86435155413.3
86435155414. 4

Question Number : 98 Question Id : 86435116330 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Innovation decision process is a/an

1. Action process

2. Confirmatory process
3. Emotional process

4. Mental process

Options :

86435155415. 1
86435155416. 2
86435155417.3
86435155418. 4

Question Number : 99 Question Id : 86435116331 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



On Culture

Culture is the entire accumulation of artificial objects, conditions, tools, techniques, ideas, symbols and
behaviour patterns peculiar to a group of people, possessing a certain consistency of its own, and capable
of transmission from one generation to another.

From the above passage we can infer that:

1. Culture is static.

2. Culture can undergo change by retaining the core value.
3. Culture cannot be inherited.

4. Culture is not specific to a group of people.

Options :

86435155419. 1
86435155420. 2
86435155421.3
86435155422. 4

Question Number : 100 Question Id : 86435116332 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The first psychological laboratory was established in 1879 at Leipzig in Germany. Who is associated with
this initiative?

1. George Gregory
2. J. W. Best

3. W. Skinner

4. William Wundt

Options :
86435155423. 1
86435155424.2



86435155425.3
86435155426. 4



